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Q.No: 1

A
B
C

D

Correct Answer
Q.No: 2

A

B

C

D

Correct Answer
Q.No: 3

A

B

C

D

Correct Answer

Q.No: 4

Assistant Geologist / Mining Officer Exam 2013

General Knowledge

Which of the following landform is not found
in Madhya Pradesh-

Betul Plateau
Pulicat Lake
Bhamer Mountain Range

Kaimur Hills

Which of the following is Primary Rock -
Igneous

Sedimentary

Metamorphic

None of these is correct

A

Which plateau lies between the Aravali and
the vindhya ranges -

Malwa Plateau
chhota Nagpur Plateau
Deccan Plateau

Peninsular Plateau

A

The major types of soil found in the Madhya
Pradesh are -

Alluvial and laterite soil
Black and Mixed Soil
Red and Yellow Soil

All of these is correct
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Q.No: 5
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D

Correct Answer

Q.No: 6

A
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D

Correct Answer

Q.No: 7
A
B
C

D

Correct Answer

Q.No: 8
A
B
C

D

Correct Answer

Q.No: 9

D

In which atmospheric layer is the Ozone layer

situated-

Troposphere
Stratosphere
Mesosphere

Ionospher

Vindyachal hills are situated in which region

of Madhya Pradesh-

Northern region of Narmada river
Northern region of Betwa river
Northern region of Chambal river

Southern region of Narmada river

A

Which is the highest peak in Madya Pradesh-

Lady Hill
Kaimur Hill
Dhupgarh peak

Mount Logan

C

Which city is famous for Marble rocks-
Ujjain

Jabalpur

Mandu

Indore

What is Jhoom-

A Type of cultivation

A Type of Swinging Basket
A Rivervalley of a dry region

A Tribal dance of Madhya Pradesh
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Correct Answer

Q.No: 11

A
B
Cc

D

Correct Answer

Q.No: 12

A
B
Cc

D

Correct Answer

Q.No: 13
A
B
C

D

Correct Answer

Q.No: 14

A

Which of the following rivers does not fall into
river Yamuna-

Ken
Son
Betwa

Chambal
B

In which district of Madhya Pradesh is one of
the regional laboratory of Forest Research
Institute situated -

Betul
Jabalpur
Indore

Mandla
B

September 16 is Celebrated as which of the
following day in the world-

World Ozone day
World Forestry day
world Food day

None of these is correct

A

Hygrometer is used to measure-
Relative humidity

Purity of Milk

Specific gravity of liquid

None of these is correct

A

Which of the following gas in the atmosphere
is highest in percent -

Carban dioxide

Nitrogen
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Correct Answer

Q.No: 16
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B
C

D

Correct Answer

Q.No: 17

A
B
C

D

Correct Answer

Q.No: 18

A
B
C

D

Correct Answer

Q.No: 19

Oxygen

Ozone

Kamdhenu cow sanctuary is to be established
in which district of Madhya Pradesh-

Shajapur
Jabalpur
Gwalior

Indore

A

Forest Management education center is
situated at-

Indore
Shivpuri
Balaghat

Jabalpur
B

Mahi river originates from which district of
Madhya Pradesh-

Dhar
Gwalior
Bhopal

Jhabua
A

Which Gas was leaked in Bhopal Gas
Tragedy-

Phosgene
Methyl Isocyanite
Ammonia

Chloroform

The region formed by Lava of Volcano-

Bundelkhand
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Q.No: 21
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Correct Answer

Q.No: 22
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C
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Correct Answer

Q.No: 23

A
B
C

D

Correct Answer

Q.No: 24

Chambal
Baghelkhand

Malwa

D

Pandav Waterfall is on which river-
Ken river

Chambal river

Bihad river

Narmada river

A

Which district of Madhya Pradesh is profited
with Halali Canal-

Rajgarh
Vidisha
Rajgarh and Vidisha Both

None of these is correct

Kaif (Gaanja) is produced in which district of
Madhya Pradesh -

Mandsaur
Khandwa
Mandla

Khargone

In which Year Jawaharlal Nehru Agriculture
University, Jabalpur was established-

1960
1974
1980

1970
B

Where is Veterinary College located in

TFT &
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Q.No: 25

D

Correct Answer

Q.No: 26

A
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C

D

Correct Answer

Q.No: 27

A
B
Cc

D

Correct Answer

Madhya Pradesh-

Mhow

Indore

Peelukhedi

Ratlam

A

Match the following -

(A)  First Paper Mill (1)
(B)  First Cement Mill ()
{C)  First Cotton Mill (3)
(D}  First Sugar Mill (4)
A B C D

1 2 3 4

A B C D

4 3 2 1

A

—
FOOE ]
)

[ ]

Lad

[ ]

o
!
= g

Which was the Capital of Madhya Pradesh
before 01 November 1956-

Nagpur
Indore
Bhopal

Gwalior

A

Madhya Pradesh Cotton Research Centre
situated in-

Khargone
Indore
Jabalpur
Ujjain

A

- (A) 9UH ®EE #Ha (1) J9=6ER
epanagar
Banmore | B) YA Wdee A (2) a@AR
Buwhanpur (¢) WIH ¥l e (3) SREEIX
Jaora (o) uuH IR e (4) S

A B C D

1 2 3 4

A B R D

4 3 2 1

A B R D

2 1 4 3

A B C D

3 4 2 1

01 g+ 1956 ¥ Ugol ALY T TAUTAT HiTar
off -

AEIYSY HUNH T heg, T § -
TN
gal

35l



Q.No: 28
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Correct Answer

Q.No: 29
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C

D

Correct Answer

Q.No: 30

A
B
C
D
Correct Answer

Q.No: 31

A
B
C

D

Correct Answer

Q.No: 32

A
B
C

D

Correct Answer

Madhya Pradesh Pollution Control Board was
established in-

1974
1960
1964
1984
A

The District having minimum area of forest in
Madhya Pradesh-

Jhabua
Shajapur
Bhind

Rajgarh
B

Nepanagar is in which district of Madhya
Pradesh-

Khargone
Khandwa
Burhanpur

Ratlam

Cc

Where Pencil and Slate industry is situated in
Madhya Pradesh-

Gwalior
Dindori
Morena

Mandsaur

D

Petambara Devi peeth is situated in which city
of Madhya Pradesh-

Datia

Satna
Ujjain
Bhind
A

AEGYER YGNUT fAGe=0T aS hr TATIAT el T 18 oY

1974
1960
1964
1984
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Q.No: 33 The only Unani Medical college of Madhya HEAYGRL T THATT FeAlelT TIfhcar AgTidemera sl &
s Pradesh is in- -

A Khandwa gusdr

B Mandsaur HecdlX

C Burhanpur ElAR

D None of these is correct TH § IS T 8T

Correct Answer C

gafaa fifsw -
List-I(city) List-II (River) gdl - 1 (X)) g - 1 (7))
(A) Mhow (1) Chambal (a) & (1) ar=e
Q.No: 34 (B) Ratlam (2) Chambal g
(C) Orchha (3) Betwa ! L (2) 9Fa
(D) Nemawar (4) Narmada (c) 3iRed (3) ST
(p) =& (4) =THeT
A B C D A B C D
1 2 3 4 1 2 3 4
B A B C D A B C D
1 2 4 3 1 2 4 3
c A B C D A B C D
3 4 2 1 3 4 2 1
b A B C D A B C D
4 3 I} 2 4 3 I} p
Correct Answer A
Q.No: 35 Palpur Kunu Reserves is in- AR Foadl 38R0 e forer 3 R § -
A Sheopur AR
B Datia gfaar
C Dabra SeRT
D Morena AT

el

Correct Answer A

Which sector is provisioned to get Maximum  qr— &y 1 24t deraity AT & frg &7 &9 gdifs

. th o
Q.No: 36 323:2;{1 under 12'"" Five year plane of Madhya TIRY BT SITETeT & -
A Irrigation @?Té

B Agriculture Y

C Energy Far

D Social Service AT Jar



Correct Answer B

Q.No: 37 Temple of Maihar is in- HAE &1 Al gl FUAE -
A Satna Hdell

B Ujjain 3ootel

C Amarkantak 3THIHUCH

D Nemawar AHATEY

Correct Answer A

Q.No: 38 Which one of the following cities is not WﬁWWWW% 03 & 31 gam
connected by National Highway No.03- TJETE -

A Bhopal el

B Agra SATIRT

C Gwalior ECIIEEES

D Dhule &fer

Correct Answer A

Q.No: 39 Which is the period of rapid growth of Madhya FEGYC I SIAHET Jiee fha Hrel H TA 310

Pradesh Population- Y-

A 1901-21 1901-21

B 1951-81 1951-81

C 1921-51 1921-51
1981-2001 1981-2001

Correct Answer B

Q.No: 40 \é\ngiS?egi\sNe:tseE:--in not caused by drinking qqfﬁ?rmFﬁtﬂ?rﬁ o3 I ey A W A ¥ -
A Cholera ShTeRT

B Diarrhoea srafar

C Jaundice diferar

D AIDS sy

Correct Answer D

Q.No: 41 Bauxite is used for making- FIFAIST T 3TANT fhae Feilel # fRaT ST & -
A Coal P

B Gold e

C Aluminium GG

D None of these is correct SAH U PIS Hel oTel
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Q.No: 42
A
B
C

D

Correct Answer

Q.No: 43
A
B
C

D

Correct Answer

Q.No: 44

A
B
C

D

Correct Answer

Q.No: 45

A
B
C

D

Correct Answer

Q.No: 46

C

Which of the following is a type of Iron-ore

Anthracite
Limonite
Lignite
Peat

B

Which one is the cause for Acid rain-
Carban dioxide

Chlorofluoro Carbon

Sulphar dioxide

Hydro Carbon
C

Which Instrument is used for measuring the

intensity of an earthquake-
Seismograph

Hythergraph

Climograph

Altimeter

A

Which of the following is not a style of
swimming -

Free style
Back stroke
Front stroke

Butterfly
(o

Which National highway has the longest
length in Madhya Pradesh-

NH-7- Varansi- salem
NH-3- Agra- Mumbai

NH-12- Jabalpur- Jaipur

S  PlTdT Teh dlig TEh & TR ¢ -
TrYHTST
IECIEIE
forarage

IHFIT uT & AT HIaET HRe ScaRery ¥ -

FIeT SANFHSS
FANFART et

o STIINFHSS
HEEICICC

$hFT T eIl So781 { el STRIOT § AT Sl § -
(GRTIDIED
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9 TIh
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NH-7 aRIoE-Held
NH-3 3RT-HFaS

NH-12 Seeq-saqe



D NH-26- Jhansi-Lakhnadon NH-26 STRiT-or@arele

Correct Answer B

Q.No: 47 \é\:gz;es’;sisth;tﬁspescli(tit University in Madhya e # wepd featig e TR & -
A Gwalior TqITerRR

B Jabalpur STl

C Ujjain 3ootel

D Rewa Jrar

Correct Answer C

Qroras e s e svomanie sty St O e st s e Rt
A Pithampur AR

B Malanpur ATTTYY

C Mandideep AUSIET

D Indore ARy

Correct Answer A

T Ty L ————
A Coal and Diamond Firer 3R ERT

B Copper and Iron-ore areer 3R g 3

C Coal and Copper el 3R T

D Copper and Diamond AT 3R ERT

Correct Answer D

Q.No: 50 E:)av;en;;_ny National Parks are in Madhya TR 3 frae TSERT S & -
A 7 National parks 7 TS 3T

B 8 National parks 8 TS 3T

C 9 National parks 9 TS 38T

D 10 National parks 10 TSEY 3T

Correct Answer D

Passage Hindi:

A& ;- IR A@ier I Tl et w2aT &1

Passage: et QI :-
Directions: Read the following passage and



Q.No: 51

C

D

Correct Answer

Q.No: 52

C

D

Correct Answer

answer following question given below -

The first five positions in the general aptitude
test were bagged by Ram, Shyam, Seeta,
Geeta and Neeta

e Ram and Shyam scored 100% marks in
english and mathematics.

e Shyam and Seeta scored 100% marks in
data interpretation and mathematics.

e Seeta and Geeta scored 100% marks in
data interpretation and reasoning.

e Geeta and Ram Scored 100% marks in
english and reasoning.

e Geeta and Neeta scored 100% marks in
mental ability and english.

Who did not scored 100% marks in english?

Ram
Shyam
Seeta

Geeta

(o

Passage:
Directions: Read the following passage and
answer following question given below -

The first five positions in the general aptitude
test were bagged by Ram, Shyam, Seeta,
Geeta and Neeta

e Ram and Shyam scored 100% marks in
english and mathematics.

e Shyam and Seeta scored 100% marks in
data interpretation and mathematics.

e Seeta and Geeta scored 100% marks in
data interpretation and reasoning.

e Geeta and Ram Scored 100% marks in
english and reasoning.

e Geeta and Neeta scored 100% marks in
mental ability and english.

Who scored 100% marks in english, data
interpretation and mathematic?

Ram
Shyam
Seeta

Geeta

Teh QAT ATAETS aa70r & A, 2, dar, far
TG SAIdT GaRT 9UH 9

T gred 7T I

o I TF 2TH o 3 TF a1f0rd & 100% 3 3ifoa
& |

o ITH UG Il o HThal & Aader vg aIforg &
100% 37 31fora R |

o T vg 3T o 3ifehsl F fAdaer g ad FlraT &F
100% 37 3ifora iR |

o 30T UF TH o 3N U dh P F 100% 37
Jifea R |

o 3far vd AT F AARAS MNeFar vd AN F 100%
37 3ifora R |

freeh ganrT 336 7 100% 37 3ifora 787 fohd a1 |

JH

ITH

Passage Hindi:
A& - RFATATRT J@Ter Y TGt [Fe=T Y2 il

3cR T :-

U ATHAY STAETT qNeToT & TH, a1, diar, far
Tq A1dT ORI YUH did

T gred 7y I

o JH T ATH o IS vF 1T & 100% 3k 3o
R |

o ITH Ug AT & 3ifersl & g va aiforg &
100% 3w 3ifora & |

o TYaT g IMNaT o 3ffhat & Adaa vd Tk Hierer H
100% 37 31fora R |

o AT TF TH o 3N TF dh P &F 100% 37F
Jifora R |

o AT TG AT A AATAS JITAT TF 373 H 100%
31 3ifa & |

fheTeh @R 31, st & fAdas va ifta
100% 3= 3i1foid [ )
JH

ITH



Q.No: 53

C

D

Correct Answer

Q.No: 54

Passage:
Directions: Read the following passage and
answer following question given below -

The first five positions in the general aptitude
test were bagged by Ram, Shyam, Seeta,
Geeta and Neeta

e Ram and Shyam scored 100% marks in
english and mathematics.

e Shyam and Seeta scored 100% marks in
data interpretation and mathematics.

e Seeta and Geeta scored 100% marks in data
interpretation and reasoning.

e Geeta and Ram Scored 100% marks in
english and reasoning.

e Geeta and Neeta scored 100% marks in
mental ability and english.

Who scored 100% marks both in english and
data interpretation?

Ram and Geeta
Geeta and Neeta
Shyam and Geeta

Seeta and Geeta

C

Passage:
Directions: Read the following passage and
answer following question given below -

The first five positions in the general aptitude
test were bagged by Ram, Shyam, Seeta,
Geeta and Neeta

e Ram and Shyam scored 100% marks in
english and mathematics.

e Shyam and Seeta scored 100% marks in
data interpretation and mathematics.

e Seeta and Geeta scored 100% marks in
data interpretation and reasoning.

e Geeta and Ram Scored 100% marks in
english and reasoning.

e Geeta and Neeta scored 100% marks in
mental ability and english.

Who scored 100% in english, mathematics
and reasoning?

Passage Hindi:

A& ;- AT I @rer &l ggat [HeeT 9 &l
3R AIfST :-

Ueh ATAT 3RS qN&T0T H TH, 1, diar, 3far
Td ST ganT 9UH aid

TUT gred 7 3

o JH UF QATH & 31 UF 10T H 100% 37k 31
R |

o ITH Ug T & 3iThst & e g afora &
100% 37 3ifora iRy |

o HYar va AT & st & dT vd a dierer F
100% 37 3ifra R |

o AT UT TH & 3T TF d FiAdT F 100% 3iH
JfeTa R |

o AT UF AT o AGES I Ua 3 # 100%
37 Ao R |

foreteh ganT 31ASl va 3ifehst & fidasT & 100% 37
ot ol o |

TH g Aar
afyar vg ar
ogTH ug Iar

drar vg Aar

Passage Hindi:

A& ;- AT S @rer I ggat [HeeT 9 &l
3R AIfST :-

U ATA RS gdieor & A, earA, didr, far
Td ST aRT JUH diel

TUTT 9rod fohd a1 ¢

o IH TF AH o 3i3i Ug i # 100% 37 oid
R |

o 9ITH TT AT o 3iTehsl & foiaael va a1ford 7
100% 37 3ifora iRy |

o HYaT TG AT o et & G U dh HiAT H
100% 37 3ifra R |

o 37T TG TH oF 3N U deh DI H 100% 37F
feTa R |

o AT Td AT o AATAF AT TF 37 H 100%
37 Ao Y |

foheTeh g@rT 3T, A0 T arféhe avtereT 7 100%
3 Hfod v 3 |



C

D

Correct Answer

Q.No: 55

C

D

Correct Answer

Q.No: 56

C

D

Correct Answer

Ram

Shyam
Neeta

Seeta

A

Passage:
Directions: Read the following passage and
answer following question given below -

The first five positions in the general aptitude
test were bagged by Ram, Shyam, Seeta,
Geeta and Neeta

e Ram and Shyam scored 100% marks in
english and mathematics.

e Shyam and Seeta scored 100% marks in
data interpretation and mathematics.

e Seeta and Geeta scored 100% marks in
data interpretation and reasoning.

e Geeta and Ram Scored 100% marks in
english and reasoning.

e Geeta and Neeta scored 100% marks in
mental ability and english.

Who scored 100% marks in mathematics and
reasoning?

Ram and shyam
Ram and Seeta
Shyam and Geeta

Geeta and Seeta

One of the two clocks gain 5 minutes in 24
hours while the other loses 5 minutes in 24
hours. If both of them show same time at 12
noon, they will show same time again after
how many days.......

80 days
72 days
60 days

55 days
B

ATH

Passage Hindi:

A& ;- AT @d I Erer ol Ygat AT W &l
3R AIfST :-

Ueh ATAT 3RS qN&T0T # TH, 1, diar, 3far
Tq ST GaRT JUH die

TUTT 1o fohd 91

o A TF AH o 313iT Ug i1 # 100% 37 3ffoid
|

o 2T U TIAT & 3iThat & AdweT vg 7o &
100% 37 3ifora iR |

o HYaT T AT o st & AdTAA U dh FiAT H
100% 37 3ifara o |

o 37T TG TH oF 3ISH U deh DI F 100% 37
i R |

o I Td AT A AATHF AT TF 37 H 100%
37 Ao Y |

foheTeh ganT a1foa ua arfre terer # 100% 37
o ol I |

TH U9 ATH

TH Uq drdr

oITA Uq Irer

3frar va drar

ar ufsar 7 ¥, 24 gci #§ U g3y 5 fAfAe 3mer g Jrdr
¢ STafe gud gy 5 fAfae O & el & | 3fe g
af$ar grugt 12 Jof AT AT Yeid Hcl § d
3aTel IR fohcet AT a1 @A FHT g2Teet ...

80 feat #
72 e 7
60 feat
55 fealt 7



Q.No: 57

C

D

Correct Answer

Q.No: 58

o 0O wm >

Correct Answer

Q.No: 59

C

D

Correct Answer

Q.No: 60

A
B
C

D

Correct Answer

While going from his house to office Chandar
drives 2 km towards east then 2.5 km
towards south then 3 km east and finally 4
km south. Then the direct distance between
his house and office is closest to ........

8 km
10 km
12 km

14 km
A

X and Y are brother and sister, X has as many
brothers as sisters. Y has twice as many
brothers as sisters. Then the number of boys
in the family are.......

4
2
5
None of these is correct

A

Meena, Neera and Om are intelligent children.
Meena, Prabhu and Kamal are hardworking.
Prabhu, Om and Kamal are honest. Meena,
Neera and kamal are ambitious. Who
amongst them is intelligent, hardworking and
ambitious but not honest?

Meena
Neera
Om

Prabhu and Kamal

A

Pawan is taller than Meera. Sara is taller than
Pawan. Aman is taller than Dharmendra but
not as tall as meera. Who amongst them is
shortest-

Meera
Sara
Dharmendra

Aman

C

Toed B { FHrATerd ST §#7 2 fareft. qd r 30T amsy
TATT & STk 9TTd 2.5 TR, giayor dr 3R aar
sae a1e 3 fanelt, OoT: g &1 3T et Farar § qar
3ed #H 4 frelr. gfaior & 3R TAdT & | 99 38 X A
FRITERT & e 7 Fedr gl e g .

8 fere.

10 fepadT,
12 fepaT,
14 fopaT,

X AT Y et 818 987 §, X & 3ot &1 o1 § T %
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¢ | 9 IRAR # ogehl T ol HEAT glell AIR....

4

2

5

$TH A PIS AGT
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& il gieeaT, IR, TuT Hgcarehial o § otk
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TIH P G HHF e qTel & |
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ART
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Q.No: 61

A
B
C

D

Correct Answer

Q.No: 62

C

D

Correct Answer

Q.No: 63

Ram is four years older than his wife. His
wife is ten times older to her daughter. Their
daughter will be 6 years old after two years.
What is the present age of Ram?

40 years
48 years
42 years

44 years
D

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should new big industries be started in
Calcutta/Kolkata.

Arguments:-

I. Yes, It will create job opportunities.

II. No, It will further add to the pollution of
the city.

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

Cc

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should taxes an refrigerator be further
increased.

Arguments:-

I. Yes, Refrigerator is a luxury item and only
rich people buy it.

II. No, Refrigerator are bought by the poor
too.

Argument I is strong.

Argument II is strong.

A 3Tl Teolt & 4 Y 937 &, IHRT Teadl 3o T &
10 FEAT ST E | 2 AY dTe; SeTeht GAT 6 Y T gr Sfrae
TS A T AT 3G FATE ?

40 a¥
48 a¥
42 a¥
44 9§

for&er ;- faF veat & ggel T YA § T 3TH o
&l 9 YUY a& FHie [ Ta d& HAE I TS5 ¢ |
T a1 el W fTUR ateh T el § o et A qd
YRUT HUT H Iedielied & | Hfaf@d faweal & &
TE 3cck Ay -

FHYU : FIT FHclehedl/PIRIAT H 7A T3 3NN IRFH
R ST Tnfed ?
QYR :

I. g1, 389 USHIR HGER SAferd giov |
I1. 5761, AR S8 AT & YgWor # gfeg gref |

QAR [ 9&el ¢ |

QRO 11 JeeT § |

aeil qEaURonT 1 g 11 9eel ¢ |

o &1 qEURoT I AR o g1 11 JaeRon Jael § |

Ader :- AT U & Ugel Ueh U & T 3qF A
&l 99 YRONT d% FHAie | Td dh HAE 11§ T ¢ |
e a1 YT R TR e a7 e § 6wl @ qd
RO FUA H edieied ¢ | Arfaf@d faweat # &
e 3cck giad :-

YT 1 ST I SR I GeT: TG STl arfigd
l?I(\T=‘f?1'ITU'IT:

1. & AT TFTeaTdr &1 fAemelr § U 3¢ dhdel e=idied
AT & TlEA ¢ |

I1. A&r, ThreT &l I ot 3 Wled & |
QAR I 9l & |
QEYUROT 11 9eel § |



C

D

Correct Answer

Q.No: 64

C

D

Correct Answer

Q.No: 65

C

D

Correct Answer

Both arguments I and II are strong.

Neither argument I nor II is strong.

D

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should internal assessment in colleges and
universities be continued -

Arguments:-

I. Yes, It will help teaching faculty to control
students.

II. No, This will increase the possibility of
favoritism.

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should the reservation in Government jobs be
abolished -

Arguments:-

I. Yes, As the jobs should be offered to only
deserving candidates without any reservation
for a particular group.

II. No, It will be bad for the India as a
growing economy.

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

A

alel qEERo I e 11 9ael ¢ |
o € qEuRoT I 3R o 8 11 JEURoT 96 ¢ |

fager :- fesT ueal & dgel T FHUA § U9 3T A
ar qd YROME & el 1 T o FAe 1A TS 8 |
e 1 el W faaR ¥ T e § & wler A q@
YR HYT H Hedieited & | Arafaf@a fawedt 7 &
TE 3ccR gAY -

FYT : AT Ud faRafacarerdt 7 3mediRes

Hoishel 1A ST W1 1R |

QYR :

1. g, Fifeh Ig 8T garT BrEr R fAF=307 T@at 7
TETF ¢ |

I1. g1, F1fdh SEA T&TAT gle T HHTGATT 3T |

QEUROT [ Yol § |

QLR 11 JeeT § |

alAt qdUrRoN? I vd 11 9ael § |

o & q@uRon I 3R & & 11 {TURoT 5§ § |

e :- 77T Ueat & Jgel Uh YU § TG 38k i
al q& YROUT % FATE [ UF d& A 118 715 ¢ |
@ T e WX AR e 7 N § 6 e A g
RO U H edeled ¢ | fAefaiad fawear # &
TEY 3cck gy :-

HYT ; ATHRIT HATHT H 37RETOT Sl FHTCT I Gall
AR |

QYR :

1. g, SilRRAT shdel J1TF 31T T &Y & ST Ay oF
f& 3TR&T0T 2anT el Wegg faRIw &7 |

117781, aifeh TE TR ol doeit HFegawdr W g
T STeldT |

QAYROT I 9ael ¢ |

QAYROT I el ¢ |

alAt qdURoN? I vd 11 9ae § |

o & qauRoT I 31X & &7 11 qaURoT J&d § |



Q.No: 66

C

D

Correct Answer

Q.No: 67

C

D

Correct Answer

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should Liquor / use of alcohol be totally
banned in our country -

Arguments:-

I. Yes, It is expensive and bad for our health.
II. No, Nothing should be banned in a
democratic country like ours.

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

C

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
Should the government stop spending so
much on defense -

Arguments:-

I. Yes, During peace this money should be
used for the development of country.

I. No, Safety of the country is of prime
importance

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

for&er :- faF veat & ggel Uk YA § T 3TH oA
al qd YoM & shafich 1 Td ok HaAh 1 A TS 8 |
&3 73 el W fIIR e T T & o et A1 q@
RUT ST H Iedielied & | Hfaf@d faweal & &
TEY 3cck gAY -

HYT : FAT FAN G H AW & TN &Y qoie:
sfasftra # fear s afed |

QﬁWTF:

1. 8T, IE AN Ud T & fold @A ¢ |

I1. 6T, EAR o1 Jaiditaeh o2l # fhdr W off gfaeer

S8 ST ST =BT |

TAYROT I 9&e & |

QYR 11 9ael ¢ |

alAt QEURONY 1 Td 11 9ae & |

o € g I 3R o 8 11 JaURon Jad § |

f&er :- 7T Ueal & Jgel Uh YU § TG 38k i
al q& YROT I FATE [ UF a6 FHAreE 18 15 ¢ |
e 7 e WX fAUR e 7 N § 6 e A g
RO U H edeled ¢ | fAefaiad fawear # &
TEY 3cck gy :-

FYA : ATHA BT VAT W 3HF TT FI Ak Sl
ey |

QYR :

1. 8T, 2Mfar &Y G & T T 3T/ A & farrg &
THIT ST TR |

I1. €Y, <er & &t gafar ¢ |

JEUROT I 9ael & |

QEUROT 11 JeeT § |

eIt dURoN? I vd 11 9ae § |

o & qauroT I 3R o € 11 qEURom 9 § |

fader :- A Ul & Ugel Uh HYU § TF 3P AT
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e 3cck gy :-
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C
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Correct Answer

Q.No: 69

C

D

Correct Answer

Q.No: 70

Statement:-
Abortion is a murder, so it should be totally
banned by the government strictly-

Arguments:-

I. Yes, Government should insure the safety
of their citizens.

II. No, Government has permitted it only
when there is a health risk for women and it
is absolutely necessary.

Argument I is strong.
Argument II is strong.
Both arguments I and II are strong.

Neither argument I nor II is strong.

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-

The tea leaves of company A is quite better in
taste than the much advertised tea of
company B-

Assumptions:-

I. If your product is not good, you spend more
on advertisement.

II. Some people are tempted to buy a product
by the advertisement.

Assumption I is correct
Assumption II is correct
Both assumptions I and II are correct

Neither I nor II is correct

Directions: In each of the following questions
below is given a statement followed by two
assumptions / arguments numbered I and II.
Consider the statement and decide which of
the given assumptions is implicit. Select your
answer considering one of the following-

Statement:-
If you are a doctor, we have a challenging job
for you.

Assumptions:-

YU : AT Teh §dT &, 3cl: FH AT EGaRT IoTa:
gfasfad forar S anfed |

CI:&UITU'IT:

I. §T, AT T 3TeT AFTREDT T FI&T FiATeT e
gy |

I1. 7TE1, QM T SHDT AT &1 ST Y SAeieh
AT & FATELY 8T T TS § Ig Hcdd 31T gl
|

JAYROT I 9&e & |

QEYUROT 11 9ael § |

alAt QAR I Td 11 9ae & |

o € g I 3R o 8 11 JaURon Jad § |

& :- AT URaT & UgS Uk YA § UL 3T A=Y
ar qd UROMY % Feeh 1 T aF FAG [ A TS § |
fedr a1 et W IR aes aF e § 6 dler d qd
RO YT H edieied § | Aeafafaa fwear & &
e 3R gy :-

Y : Teh HFsll B @RI A=A = & Jofell H
FFgT A FI T Ul FTaIG H SI1ET TS § |
q‘\'éf?l'lTUTr:

1. IfE 3T 3cUTE 31TBT 78T &, dd AAI=AT & SITET
@ T ST § |

I1. & o1 fa=iT9ai & Fenfad ge 3cdie Tled ¢ |
JAYUROT I 9&e & |

QYR 11 el ¢ |

alt qaURoNe I Td 11 9ee § |

o &1 QYR I 3R & & 11 JaUROT Jeel & |

for&er - T veat & dgel T YU § T 3T o
al qd YRUTT % HAE [ UF a% FHArE 18 TS ¢ |
3 7 Yyl W FIaR e T T § & et A q@
YR FUT 7 Hedfeifed ¢ | ReAfaf@d Reedt 7 &
TN 3R gy :-

HYUT- I 3T U STareX §, I gAR IIF 39 for
Ue FeAtdrqot F #
QIO :
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Q.No: 71

o 0 w r

Correct Answer

Q.No: 72
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Correct Answer

Q.No: 73
A
B
C

D

Correct Answer

Q.No: 74

0O @ >

Correct Answer

I. We need a doctor.
II. You are a doctor.

Assumption I is correct
Assumption II is correct
Both assumptions I and II are correct

Neither I nor II is correct.

A

Select the digit for the series below which
should come in place of interrogative sign
2,3,45,8,9,16, 17, _?

7
20
18
32
D

In the following series what is last number
43, 31, 20, 10, __

9
1
8
2
B

Find the odd one from the following four-
Mason

Teacher

Carpenter

Potter
B

There is some relationship between following
pairs, find the odd one-

22, 37
48, 63
57, 72
82, 98
D

I. g3 STered T 3MaTHar ¢ |
II. 319 Ueh Sieed 2|

QAYROT I 9ael ¢ |

QAYROT 11 el ¢ |

alAt qauRond I vd 11 9ae § |

o & qauRoT I 31X & &7 11 (URoT J6d § |

et Al & yeearas Reg & U W 3T 3 &1
AT I

2,3,4,5,8,9,16, 17, _?

7

20

18

32

o7 Sofr &1 3iTAH 3F §
43, 31, 20, 10,
9

1
8
2

T e § -
22, 37
48, 63
57, 72
82, 98
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o 0O w >r

Correct Answer

Q.No: 76

o 0O W r

Correct Answer

Q.No: 77

o 0O wm r

Correct Answer

Q.No: 78

o O ® >

Correct Answer

Q.No: 79

o 0O wm r

Find the odd term in the following set of
numbers
864, 576, 198, 747, 359

198
576
747
359
D

If RADHA is coded as 23653 and KRISHAN is
coded as 7240539, than DARSHAN will be
written as

6302359

5325039

6320529
None of these is correct

C

If NYLON is coded as SDQTS, FIBRE will be
written as

KNGXK
KNGWI
KMGWI

None of these is correct

Find the missing number in the given series-
600, 300, ?, 25,5

100
150
75

None of these is correct

A

Ram, Shyam, Seeta and Geeta all celebrate
their birthday today. Seeta is 3 years younger
than Ram, Ram is 5 years older than Shyam,
Geeta is 8 years older than Seeta. What is
their total age if Geeta is 20 years old.

57
58
59

None of these is correct

TEnt & et weoay 7 e 9T ¥ -
864, 576, 198, 747, 359

198

576

747

359

af& RADHA & e & 23653 Td KRISHAN &t
%e TEAT 7240539 &@RT AE foham ST & ae
DARSHAN &7 &e fa&qor g |

6302359

5325039

6320529

SAH & @lg el |

If& NYLON T e SDQTS garT Yefdia fkar sirar §
ds FIBRE oot # & forg g qany yefRid g |
KNGXK

KNGWI

KMGWI

SIH ¥ PIs el |

o=t Aol A faoqed d&ar A AT |
600, 300, ?, 25, 5

100
150
75

ST @ IS 8T |

TH, I, Wrar ug Mar iy 3T 39T Sied e
AATT & | Aar, TH A 3 a¥ DT §1 UH, AH F 5 a¥
ST ¢ | 3T, AT & 8 a¥ 9= & | oI 3o Heleh! Fol
3Ty 41 gl STefeh Ifar S 337 20 I @ ?

57

58

59

SAH ¥ PIS el |



Correct Answer

Q.No: 80

C

D

Correct Answer

Q.No: 81

o 0O m r

Correct Answer

Q.No: 82

o 0O m >

Correct Answer

Q.No: 83

o 0O m r

Correct Answer

A

Ramesh spend 1/3rd of his income on food,

2/5t™ on cloths and 2/3" of the remaining on
travelling. If his expenditure on travelling is
Rs. 500/-, then his saving will be-

Rs. 300
Rs. 250
Rs. 200

None of these is correct

Ramesh purchase 150 quintal of sugar. He

sold 1/3" of it at a loss of 10%. At what
profit of percentage must be sell the
remaining sugar so that he can make 20%
profit on the whole.

25%
30%
35%
None of these is correct

C

If x= difference in compound interest on Rs.
15000 at 10% p.a. compounded annually and
compounded quarterly. Find value of x-
59.19

58.19

57.19
None of these is correct

C

A and B can complete a certain work in the
ratio 4:5. If they together finish the work in
10 days. Then in what time A alone can
complete the work

10
15
18
None of these is correct

C

TAHLT 39T 3T &7 1/3 ar $19T el O, 2/5 ar dmer
FUS W UG AV [TA &7 2/3 a7 HET AT 9T @

AT & | I 3FH Pl AT 7T T4 500/- &
3T I el |

w. 300

w. 250

¥. 200
ST A FIS 8T |

A 150 TFdee AFHT WUGAT § IAT I§ TR T
1/3 af #7197 10% gl R fashg # gar g | g 38
Fol 20% ST JATSTT YT &1 oI 3 AV Tl AFehy
I fohder gfaerd omeT 9X fasha e arfge ?

25%

30%

35%

$AH U P 7 |

IfE x= FIF 15,000 FT 10% aT¥F &I F 0T R
T fAATEY ITUTAT W Uhgee, sATSl T Ieek & ad X
FAAE |

59.19

58.19

57.19

$AH U PIS 7T |

afE A Ta B Rl 1 &1 4:5 & 31T 7 F
gl XA & | IS Sl fAerent i @ 10 Tt # qof
A @1 a9 A 37hell fohclel AT # 1A &l ot T |
10
15
18

$AH U PIS 7 |



Q.No: 84

C

D

Correct Answer

Q.No: 85

A
B
Cc

D

Correct Answer

Q.No: 86

o 0O W r

Correct Answer

Q.No: 87
A
B
C

D

Correct Answer

Teena and Reena starts from a point A
towards a point B simultaneously which are
20km apart and returns back to A. If they
meet at a point C, Where BC=5km and speed
of Teena is 5km/h then what is the speed of
Reena-

25/2 km/h
25/3 km/h
25/4 km/h

None of these is correct

A number 1568x 35y is divisible by 88. Find x
and y respectively-

6 and 3
6 and 2
2and 3

None of these is correct

The ratio of the number of boys and girls in a

school is 3:2. Out of these 1/4th of the boys
and half of the girls are passed. What percent
of students are failed-

65%
55%
45%
None of these is correct

A

(o

AT Ud T U A1y Uk faeg A A 3179 f9eg B #r
3 Terclt § S8l A U B & ofr=r hr gt 20 fel. §,
U 9 foeg A T agTch & | I gt T faeg C
R 39T H fFerdr § STer BC=5 sy, qar & &
aifa 5 foraY./ger § ad Jar & aifd gef -

25/2 Ry, /aer
25/3 fraT./ger
25/4 fraT. /ger
5o q IS A |

Ueh TEAT 1568x 35y, 88 & fAH=T § d« X
TGy F AL |

6 Td 3
6 T 2
2T 3

SoTH @ IS 78T |

T faeTerd # ©1F Td BN 3:2 & 3efurd A ¢ |
ST § 1/4 aF AT BT Ta 3Tedy STETC 9T gl Sl §
| a8 fahrcter faera facamef ter ghar 2

65%
55%
45%

SAH & @lg el |

FleT T T FT-FeT Y Hafed § -
gaacr
JRERT
FHAOAT

S

HART-HRAT

'3 -39 3ToTeTe T g e &Y T § -
Higar

39qTH



C - Ach

D - Fgleir

Correct Answer B

Q.No: 89 - JUH TSChid b & H AT ¢ -
A - TAYRIAE g

B - HRGTlTeT TIddr

C - AR a[TT

D - STeIeHSUT QAT Tellet
Correct Answer B

Q.No: 90 - T aa=ir Fafegd HIfSw -
A - SEEe

B - wETEfa

c : vl

D : SEva

Correct Answer A

'3HA HI SN q¥AP & Ig IR & |1 39 areg H

Q.No: 91 - L
A - ar
B - GiCH
Cc - ard
D - ¥

Correct Answer A

Q.No: 92 - 'S’ F FTIRIT TATA § -
A - dareg
B - sy
c - &
D - god

Correct Answer B

'Tg A AT I@T§, AR E |' 9T & FITH AT A TAST
T -

A - forezraaras adarH

Q.No: 93 -



B - fATards =T
C - SReTaTEh HATH
D - HeYaras FITTH

Correct Answer D

Q.No: 94 - 'SleT 9T SAeaAT HgTaX 1 7Y g-
A - S gleT

B - 31sTet deT LT

C - Tehc H STelell

D - %ﬁaﬁw

Correct Answer A

Q.No: 95 - IS AE & -

A - dcaH

B - dca

C - LN

D - faeefr

Correct Answer D

Q.No: 96 - HieT AT T 'HFA' T JATIATHN FAeT & |
A - gearaX

B - Adcel

C - [RGICESY

D - kice)

Correct Answer C

Q.No: 97 - Ty v Gf-fawde § -

A - g+3d

B - T+AT

C - TF+3

D - Tar+37

Correct Answer B

Q.No: 98 - 'IE QY AR AT | AT 7 HAT &l Hg g -

A - giFdaras



C - HTaarah

D - geIarde

Correct Answer D

Q.No: 99 - UHIE FoTdIS ¢ -
A - IooteT H

B - mareT H

C - AR H

D - STy 7

Correct Answer A

T AT & ATH T AT REHR S GO T

Qo 100 - T 3 e € 3% A -
A ) 2010
B - 2012
Cc - 2013
D - 2014

Correct Answer B

© MPPSC. All rights reserved
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Assistant Geologist / Mining Officer Exam 2013

Geology
Q.No: 1 SiO2 percentage in Andesite is -
A 72.77
B 69.68
C 59.59
D 49.06
Correct Answer C
Q.No: 2 The Monzonite is a rock of -
A Gabbro Family
B Syenite Family
C Granite Family
D Diorite Family
Correct Answer B
Q.No: 3 Which one of the following is an Igneous rock?
A Eclogite
B Dolomite
C Rudites
D Carbonatites
Correct Answer D
Q.No: 4 The facies of Contact metamorphism in order of increasing temperature are -
A Albite - Epidote - Hornblende - Hornfels Sanidinite - Pyroxene hornfels
B Albite - Epidote - Hornblende hornfels - Pyroxene hornfels - Sanidinite
C Pyroxene hornfels - Hornblende hornfels - Albite - Epidote - Sanidinite
D Hornblende hornfels - Sanidinite - Pyroxene hornfels - Albite - Epidote

Correct Answer B



Q.No: 5 A rock formed by a mixed lithology of country rock and granitic mass, is known as
A Pegmatite

B Granulite

C Migmatite

D Spilite

Correct Answer C

Q.No: 6 Hermann - Mauguin Symbol for normal class of tetragonal crystal system is -
A 4/m, 2/m, 2/m

B 4/m, 3, 2/m

C 2/m, 2/m, 2/m

D 4 mm

Correct Answer A

Q.No: 7 In Carlsbad twin of orthoclase the -

A Twin axis is "c" and composition face is (010)
B Twin axis is "a" and composition face is (111)
C Twin axis and composition plane is (021)

D Twin and composition plane is (001)

Correct Answer A

Q.No: 8 Mineral crystallized in crystal system shows uniaxial character -
A Triclinic

B Orthorhombic

C Tetragonal

D Monoclinic

Correct Answer C

Q.No: 9 Hardness of minerals increases with -
A Increasing interatomic distance

B Increasing size of atoms

C Decreasing packing density

D Decreasing ionic size

Correct Answer D



In Diopside - Anorthite bicomponent system, the temperature at which the melt

Q.No: 10 and the two solid phases at equilibrium, is -
A 12750C
B 14900C
C 1150°C
D 990°C

Correct Answer A

Q.No: 11 Elements occur mainly as sulfides are known as -
A Lithophile

B Chalcophile

C Siderophile

D Atmophile

Correct Answer B

Q.No: 12 Mineral soluble in HCl is -
A Gypsum

B Apatite

C Goethite

D All options are correct

Correct Answer D

Q.No: 13 Corundum occurs in rocks such as -
A Syenites

B Granites

C Pyroxinites

D Arenites

Correct Answer A

Q.No: 14 Silicate minerals with the Si:O ratio of 1:4 are known as -
A Sorosilicates

B Phyllosilicates

C Nesosilicates

D Tectosilicates

Correct Answer C

Q.No: 15 Mineral does not belong to Epidote Group -



A Zoisite
B Zeolite
C Epidote
D Allanite

Correct Answer B

Q.No: 16 Monoclinic lithium pyroxene is -
A Enstatite

B Aconite

C Iadeite

D Spodumene

Correct Answer D

Q.No: 17 Name the mineral of Orthorhombic Amphibole -
A Tremolite

B Anthophyllite

C Hornblende

D Apophyllite

Correct Answer B

Q.No: 18 Chemical composition of Talc is -
A Mg3Si4010(OH)2

B KAISi;Og

C CaAl,Si,0,,.6H,0

D CaZMQSSiSOZZ(OH)Z

Correct Answer A

A mineral replaced by another mineral without any change in the external form,

Q.No: 19 such replacements are called -
A Isomorphous

B Polymorphous

C Pseudomorphous

D Enantiomorphous

Correct Answer C

Q.No: 20 The hydrated silica mineral is -



A Amethyst
B Opal

C Chalcedony
D Chert

Correct Answer B

Q.No: 21 Aravallies lie against the Vindhyans along a tectonic plane. The plane is a -
A Main Boundary Fault

B Great Boundary Fault

C Main Central Thrust

D High angle Reverse Fault

Correct Answer B

Q.No: 22 The area of Vindhyan Supergroup on the north side of Narmada valley is about -
A 1000 Sq. kilometers

B 20000 Sqg. kilometers

C 100000 Sq. kilometers

D 200000 Sq. kilometers

Correct Answer C

Q.No: 23 Narji Limestone stage exposed within a series named as -
A Kundair

B Kaimur

C Banganapalle

D Jamalamaduge

Correct Answer D

Q.No: 24 Caledorian Orogeny took place during -
A Triassic

B Permian

C Silurian

D Cambrian

Correct Answer C

Q.No: 25 The flow of plateau basalt are called Traps because of -
A Terraced appearance

B Tectonic appearance



C Flow within the trough
D All options are correct

Correct Answer A

Q.No: 26 Eocene begins with the -
A Deccan Trap

B Kirthar Series

C Ranikot Series

D Murree Series

Correct Answer C

Q.No: 27 Equus sivalensis is found in -
A Pinjor Stage

B Tatrot Stage

C Chinji Stage

D Kamlial Stage

Correct Answer B

Q.No: 28 Pi diagrams are the projections of -

A Poles of the perpendiculars to the beddings
B Planes parallel to the beddings

C Joint plane orientation

D Dip and Strike of a planer feature

Correct Answer A

Q.No: 29 A fault in which the rake of net slip is zero, and it is known as -
A Dip-slip Fault

B Diagonal-slip Fault

C Strike-slip Fault

D Longitudinal Fault

Correct Answer C

A vertical rock bed shows cleavages dipping towards west. The synclinal axis of

Q.No: 30 the bed lies to the -
A North
B South

C East



D West

Correct Answer C

Considerable plastic movement of material away from the limbs and towards

Q.No: 31 hinges causes development of folds known as -
A Drag Fold

B Similar Fold

C Parallel Fold

D Diapir Fold

Correct Answer B

A fold limb denotes fracture cleavage at an angle of 309 with north. The maximum

Q.No: 32 stress direction would be -
A 309 with South

B North

C 309 with East

D West

Correct Answer B

Q.No: 33 Kinematic movement within the rocks includes -
A Translation

B Dilation

C Distortion

D All options are correct

Correct Answer D

Q.No: 34 Progressive defomation by non co-axial strain is known as -
A Simple shear

B Pure shear

C Angular shear

D None of these is correct

Correct Answer A

Q.No: 35 Triangular facets come into existence due to -
A Downward movement of the hanging wall
B Downward movement of the foot wall

C Erosion of a fault block



D

Correct Answer

Q.No: 36
A
B
C
D

Correct Answer

Q.No: 37
A
B
C
D

Correct Answer

Q.No: 38
A
B

C
D

Correct Answer

Q.No: 39
A
B
C
D

Correct Answer

Q.No: 40
A
B
C
D

Correct Answer

Erosion of former planer fault scarps
D

One of the following is a fault rock dust -
Cataclarite

Pseudotachylite

Gorge

All options are correct

D

Listric faults are -

Reverse faults

Low angle reverse faults

Curved faults that flatten with depth

Obligue slip faults
C

In beta ((), diagram. prefers to -

Pole of a plane

Intersection point of poles
Trend and plung of a fold axis
Non cylindrical fold limb

C

If inter limb angle of a fold is 1200, the fold is -
Gentle fold

Open fold

Tight fold

Isoclinal fold

B

If dip isogayres for a fold are parallel, the fold is -
Similar fold

Parallel fold

Concentric fold

Flow fold

A



Q.No: 41 One of the following is not a Linear structure -

A Ropy lava
B Mullions
C Boudins
D Phyllonite

Correct Answer D

Q.No: 42 Flinn diagram is used for -

A Plotting the state of strain of deformed rock
B Plotting the state of stress on the rock

C Plotting the poles of strain ellipsoid

D Plotting the poles of stress ellipsoid

Correct Answer A

Q.No: 43 S-C fabric in ductile shear zone denotes -
A Grade of metamorphism

B Facies of metamorphism

C Sense of shear

D Lineation within the foliation plane

Correct Answer C

The triple junction of the plates of North America, Cocos and Pacific plates,

Q-No: 44 intersects as -

A Ridge-trench-trench type

B Trench-ridge-transform fault type
C Trench-trench-trench type

D Ridge-ridge-ridge type

Correct Answer B

Q.No: 45 There is ridge between Indian-Australian Plate and African Plate, named as
A Nunsen ridge

B Mid - Atlantic ridge

C Carls berg ridge

D Mohns ridge

Correct Answer C



Unconformity marked by unusually high topographic relief and the younger rock

Q.No: 46 lap up against the steep slope, is known as -
A Nonconformity

B Angular unconformity

C Disconformity

D Buttress unconformity

Correct Answer D

Q.No: 47 A contour map that describes the formation thickness is known as -
A Structural map

B Isopach map

C Stratigraphic thickness map

D Base map

Correct Answer B

Q.No: 48 The Deccan volcanic province contains the rock as -
A Tholeiitic basalt

B Carbonatites

C Rhyolites

D All options are correct

Correct Answer D

Q.No: 49 The separation of India from the Gondwanaland was initiated -
A 120 million years ago
B 240 million years ago
C 360 million years ago
D 510 million years ago

Correct Answer A

Q.No: 50 Indian ocean floor is spreading along -
A Central Indian ocean ridge

B South eastern ocean ridge

C South western Indian ocean ridge

D Triple junction ridge

Correct Answer D

Q.No: 51 The number of trenches in the Indian ocean are:



A Two
B Three
C Nine
D One

Correct Answer A

Q.No: 52 The age of granitic rock of Indian craton is:
A 3010 to 3560 million years
B 4000 to 4151 million years
C 2868 to 3020 million years
D 2550 to 2860 million years

Correct Answer A

Q.No: 53 Dharwar and Bastar craton was separated by a graben named as:
A Mahanadi graben

B Godavari graben

C Narmada graben

D None of these is correct

Correct Answer B

Presence of Trilobites and Brachiopods within the Tal Formation indicate the age of

Q.No: 54 Tal in the:

A Carboniferous

B Lower Permian
C Lower Cambrian
D Silurian

Correct Answer C

Q.No: 55 One of the following is not the epigenic process which shape the earth surface:
A Degradation

B Weathering

C Volcanism

D Aggradations

Correct Answer C

Q.No: 56 Worldwide lowering of sea level is the resultant of-

A Eurtatic rejuvenation



B Satic rejuvenation
C Dynamic rejuvenation
D Stream rejuvenation

Correct Answer A

Q.No: 57 In a river valley, when valley deepening had largely stopped and lateral erosion
o had become dominant than produced landform known as:

A Non-cyclic terrace

B Cyclic terrace

C Non-paired terrace

D All options are correct

Correct Answer B

Q.No: 58 The hillocks on the peneplain are called :
A Pedestal rocks

B Yardang

C Monad rocks

D Hog backs

Correct Answer C

A river flows in a valley opposite to the direction of original consequent, than river

Q.No: 59 valley is known as:
A Consequent river
B Subsequent river
C Resequent river

D Obsequent river

Correct Answer D

Q.No: 60 Homoclinal ridge with outfacing escarpment mark:
A Anticline

B Domal rock structure

C Syncline

D Basinal rock structure

Correct Answer C

Q.No: 61 Differential erosion along a fault line produces:
A Fault line scarp

B Fault scarp



C Monoclinal scarp
D Composite scarp

Correct Answer A

Q.No: 62 Erosional landform in glaciated mountain is:
A Cirgue

B Horn

C Col

D All options are correct

Correct Answer D

Q.No: 63 Ridge like deposit connect the main land mass with Island is called:
A Bar

B Tombolo

C Spit

D Rise

Correct Answer B

Q.No: 64 Caldera landform is associated with:
A Glaciers

B River valleys

C Volcanoes

D Earthquakes

Correct Answer C

Slow flowing of soil and earth material saturated with water from higher to lower

Q.No: 65 ground is known as:
A Earth flow

B Mud flow

C Solifluction

D Earth slip

Correct Answer C

Q.No: 66 Fossils which are restricted to certain sedimentary environments are known as:
A Pseudo fossils
B Trace fossils

C Derived fossils



D Facies fossils

Correct Answer D

Q.No: 67 Cardita beaumonti is the index fossil of the:
A Upper Cretaceous

B Eocene

C Upper Carboniferous

D Triassic

Correct Answer A

Foraminifera in which the initial chamber is larger than the successive surrounding

Q.No: 68 ones, is called-
A Microspheric

B Megalospheric
C Multilocular

D Involute

Correct Answer B

One of the foraminifera abundant in permo-carboniferous time throughout the

Q.No: 69 world is:
A Alveolina
B Globigerina
C Nummulite
D Fusulina

Correct Answer D

Q.No: 70 One of the following is a plant fossil:
A Schizaster

B Textularia

C Cladophalebis

D Phiomia

Correct Answer C

Q.No: 71 One of the following is not an Upper Gondwana plant fossil:
Otozamites

B Neuropteris

C Nilssonia

D Thinnfeldia



Correct Answer

Q.No: 72
A
B
C
D

Correct Answer

Q.No: 73
A
B
C
D

Correct Answer

Q.No: 74
A
B
C
D

Correct Answer

Q.No: 75
A
B
C
D

Correct Answer

Q.No: 76
A
B
C
D

Correct Answer

The exoskeleton of anthozoa is known as:
Corallite

Coprolite

Columella

Calcarenite

A

One of the following fossils is not belong to the class Anthozoa:
Calceola

Favosite

Trinucleus

Zaphrentis

C

Brachiopoda with dental system are grouped under:
Protremeta

Articulata

Inarticulate

Atremata

B

The shell of a fossil is monomyarian:
Ostrea

Cardita

Arca

Venus

A

The dentition of Trigonia is :
Texodont

Hetrodont

Dexmodont

Schizodont

D



Q.No: 77 The age of Cypraea is:

A Eocene to Present

B Jurassic

C Cretaceous to Present
D Permian

Correct Answer A

Q.No: 78 A fossil shell is inequivalve and valves are equilateral:
A Cardium

B Ostrea

C Orthis

D Gryphea

Correct Answer C

Q.No: 79 The shell of Gyroceratite is:
A Involute

B Loosely coiled

C Slightly curved

D Helicoid coiling

Correct Answer B

Q.No: 80 The type of facial suture in Paradoxides is :
A Protoparian

B Hypoparian

C Proparian

D Opisthoparian

Correct Answer D

Q.No: 81 One of the Trilobite belongs to the age of Lower Cambrian:
A Olenellus

B Olenus

C Phacops

D Phillipsia

Correct Answer A

Q.No: 82 Regular Echinoids show one of the following characters:

A Fasciole present



B Endocyclic optical disc
C Heart shaped test
D All options are correct

Correct Answer B

Q.No: 83 Graptolites are abundant in :
A Triassic

B Cretaceous to Jurassic

C Permian

D Ordovician to Silurian

Correct Answer D

Q.No: 84 Earliest fossil remains of Horse is:
A Eohippus

B Equus

C Miohippus

D Hipparion

Correct Answer A

Q.No: 85 Within the Phylogeny of elephant phiomia came after:
A Elephus

B Moeritherium

C Loxodonta

D Stegodont

Correct Answer B

Q.No: 86 One of the following match is correct:
A Lingula - Cephalopoda

B Hipparion - Elephant

C Echinolampus - Lamellibranchia

D Turrilites - Ammonoidea

Correct Answer D

Q.No: 87 Carbonate ore of Iron is:
A Goethite
B Siderite

C Limonite



D

Correct Answer

Q.No: 88
A
B
C
D

Correct Answer

Q.No: 89

A
B
C
D

Correct Answer

Q.No: 90
A
B
C
D

Correct Answer

Q.No: 91
A
B
C
D

Correct Answer

Q.No: 92
A
B
C
D

Correct Answer

Turgite
B

One of the following is not the ore of Manganese:
Psilomelane

Braunite

Bornite

Rhodonite

C

CuBSbZS7 is the ore of:

Tetrahedrite
Enargite
Tenorite
Covellite

A

Ore occurs in Bailadila hill ranges is :
Copper ore

Iron ore

Manganese ore

Chromite ore

B

Sittampundi Complex of Salem district in Tamilnadu has:
En-echelon lenses in volcanics

Lenses within quartzite

Lensoid bodies in anorthosite within charnockites

Bands within dunites of Archean age in stratiform type deposit
C

Gibbsite is the ore of :
Manganese

Zinc

Aluminium
Molybdenum

C



Q.No: 93 Which one is an ore of Arsenic:

A Cinnabar
B Realgar

C Stibnite

D Sphalerite

Correct Answer B

Q.No: 94 Lithium pyroxene is :
A Spodumene

B Zinnwaldite

C Lepidolite

D All options are correct

Correct Answer A

Q.No: 95 Principal / Host rock type of Zawar deposit are/is:
A Phyllites and Quartzites

B Slates and Schists

C Dolomites and Dolomitic limestones

D All options are correct

Correct Answer D

Q.No: 96 Gypsum is used in :
A Cement Industry

B Fertilizer Industry

C Paint Industry

D All options are correct

Correct Answer D

Q.No: 97 Millerite is the ore of:
A Cobalt

B Nickel

C Titanium

D Tungsten

Correct Answer B

Q.No: 98 High density anhydrous sulphate mineral is :



A Anhydrite
B Celestite
C Barite

D Glauberite

Correct Answer C

Q.No: 99 Oxide ore of copper is:
A Chalcocite

B Azurite

C Cuprite

D Enargite

Correct Answer C

Q.No: 100 Naharkatiya oil field formation belong to :
A Dihing Series
B Tipam Series
C Surma Series
D Barail Series

Correct Answer D

Q.No: 101 Infiltrated water above the water table is known as :-
A Vadose water

B Percolating water

C Soil water

D Connate water

Correct Answer A

Q.No: 102 Clay formation is an :-
A Aquifer

B Acquiclude

C Aquifuge

D Aquitard

Correct Answer B

A rock contains water under greater pressure than the atmospheric pressure is

Q-No: 103 called :-

A Acquiclude



B
C
D

Correct Answer

Q.No: 104
A
B
C
D

Correct Answer

Q.No: 105
A
B
C
D

Correct Answer

Q.No: 106
A
B

C

D

Correct Answer

Q.No: 107
A
B
C
D

Correct Answer

Q.No: 108

Unconfined aquifer
Confined aquifer

None of these is correct
C

The correct sequence of rocks as per their increasing porosity is :-
Marble - Shale - Limestone - Sandstone
Marble - Limestone - Shale - Sandstone
Sandstone - Limestone - Shale - Marble

Sandstone - Shale - Limestone - Marble
A

One of the rock posses maximum specific yield :-
Limestone

Sandstone

Clay

Gravel
D

Flow of Groundwater through saturated aquifer is :-
Proportional to the difference in hydraulic head
Inversely proportional to the length of the aquifer unit

Proportional to the difference in hydraulic head & Inversely proportional to the
length of the aquifer unit

None of these is correct
C

Flow velocity of Groundwater per unit hydraulic gradient is known as :-
Transmissivity

Hydraulic conductivity

Specific yield

Permeability

B

A Syncline core rock shows Lower resistivity than the outer rocks of the limbs in
an electrical resistivity method. The core rock may be :-

Granite
Marble



C Sandstone
D Quartzite

Correct Answer C

Neutron Log of a borehole mark a variable rock at a particular depth by showing

Q.No: 109 the small part of the neutron reflected for the detecter. It indicates the rock is :-
A Compact

B Porous

C Crystalline

D Volcanic

Correct Answer B

Q.No: 110 Cone of Depression is the :-

A Lowering down of water level in the vicinity of the well
B Lowering of vocanic magma or lava within crater

C Depression structure as observed on the Moon

D Syncline like cone structure within the sedimentary rock

Correct Answer A

Q.No: 111 Gravimetric Survey of an area indicates negative gravity anomaly. It indicates :-
A Denser material

B Ore contained rock

C Low-density material

D None of these is correct

Correct Answer C

Q.No: 112 Saturated water level in an confined aquifer is called :-
A Perched water table

B Piezometric surface

C Ground water table

D Free groundwater level

Correct Answer B

Q.No: 113 The rate of flow of radiation energy is called :-
A Radiant flux
B Energy flow

C Electromagnetic energy flow



D Spectrum band

Correct Answer A

Q.No: 114 Geostationary satellites are placed at an altitude of approximately :-
A 10,000 kms. above the Earth

B 25,000 kms. above the Earth

C 36,000 kms. above the Earth

D At any distance above the Earth

Correct Answer C

Q.No: 115 Scale of an image is 1 : 100000 that indicates :-

A An object of 1 cm. length on the image would actually be 1 km. long on the
ground

B An object of 1 mm. length on the image would actually be 1 km. long on the
ground

C An object of 1 cm. length on the image would actually be 10 km. long on the
ground

D An object of 1 mm. length on the image would actually be 10 km. long on the

ground

Correct Answer A

Q.No: 116 Low resolution images show :-
A Small features visible

B Large features visible

C Uplifted land mass visible

D Mountain ridges visible

Correct Answer B

Q.No: 117 Tone of an image refers to :-

A Spatial arrangement of the objects

B Genral outline of the objects

C Relative brightness or colours of the objects
D All options are correct

Correct Answer C

Q.No: 118 A technique to highlight of supress specific features in an image based on their :-
A Contrast Enhancement
B Spatial Filtering

C Band Rationing



D Unsupervised Classification

Correct Answer B

Q.No: 119 Remote sensing process includes :-
A Recording of energy by the sensor
B Data transmission and processing
C Image processing and analysis

D All options are correct

Correct Answer D

Q.No: 120 Electromagnetic spectrum wavelength ranges from :-
A 107%um to 107um
B 10™%um to 10%um
C 107%um to 10%um
D 1071um to 103um

Correct Answer A

Q.No: 121 Earth mean radius is :-
A 6378 kms.
B 6371 kms.
C 6356 kms.
D 6390 kms.

Correct Answer B

Q.No: 122 The velocity of P-waves reaches upto 13.7 kms./sec. in :-
A Upper layer of Upper mantle
B Lower layer of Upper mantle
C Upper layer of Lower mantle
D Lower layer of Lower mantle

Correct Answer C

Q.No: 123 The elements by incresing weight percentage in the Lithosphere :-
A Fe-Al-Si-0
B Si-Al-Fe-0
C Al-Fe-0-Si
D O-Al-Fe-Si



Correct Answer A

Q.No: 124 Toe of a dam is constructed towards :-
A Reservoir side of the dam

B Downstrem side of the dam

C Mid of the dam axis

D Within the body-centre of the dam

Correct Answer B

Q.No: 125 One of the following is an Arch dam :-
A Hirakund Dam

B Tehri Dam

C Nagarjuna Dam

D Idduki Dam

Correct Answer D

Q.No: 126 Morning Glory is a type of :-
A Adit

B Spillway

C Tunnel

D Dam inspection Gallery

Correct Answer B

A rock shows failure at Compressive load of 800 kg. per square centimetere. The

Q-No: 127 rock will be :-
A Quartzite

B Gneisses

C Granite

D Dolerite

Correct Answer B

Q.No: 128 Insitu deformation test of rocks is determined by :-
A Jack Test

B Brazillian Test

C Dorry Abrassion Test

D None of these is correct

Correct Answer A



Q.No: 129 An underground excavation made for removing or winning the ore is known as :-

A Raise

B Winge
C Stope
D Chute

Correct Answer C

Q.No: 130 Find the odd one :-

A Gophering

B Breast stoping

C Dredging

D Underground Glory hole

Correct Answer C

Q.No: 131 In Baltic dry well method :-

A No timber is used for permanent support
B No dry stone pack wall is used

C Top lagging is not removed

D Stone packing of the stope is not done

Correct Answer A

Q.No: 132 Ocimum homblai is a geobotanical indicator of :-
A Iron

B Copper

C Zinc

D Gold

Correct Answer B

Concentration of Mo in stream sediments and soil as path finder, indicates the

Q:-No: 133 occurrence of :-
A Gold

B Silver

C Copper

D Antimony

Correct Answer C

Q.No: 134 Foot wall drive is a :-



O 0O m >

Correct Answer

Q.No: 135
A
B
C
D

Correct Answer

Q.No: 136

A
B
C
D

Correct Answer

Q.No: 137
A
B
C
D

Correct Answer
Q.No: 138

A

B

C

D

Correct Answer

Q.No: 139

Horizantal tunnel parallel to the strike of the load on the foot wall in country rock
A tunnel from the hill side to meet the load inside the hill
Tunnel in the ore body follows the strike

Fault plane along which the foot wall moves down
A

High temperature, High pressure Quartz is :-
Coesite

Cristobalite

Tridymite

High Quartz

A

The fractional crystallization of a melt leads to the formation of differentiated
magma as :-

Basalt - Andesite - Rhyolite
Rhyolite - Andesite - Basalt
Andesite - Rhyolite - Basalt
Andesite - Basalt - Rhyolite
A

Pegmatite contains :-
Beryl

Corundum

Wolframite

All options are correct
D

Presence of Wollastonite indicates the maximum temperature of Contact
metamorphism was :-

300°C
600°C
900°C
1200°C
C

The first salt to separate by the evaporation of the sea water is :-



A Gypsum

B Carbonate
C Anhydrite
D Halite

Correct Answer B

Q.No: 140 Graphite originates by :-

A Regional Metamorphism

B Crystallization from Igneous rocks
C Hydrothermal solutions

D All options are correct

Correct Answer D

Q.No: 141 In ore dressing, the classifier is used to separate the ore on the basis of :-
A Size of the minerals

B Shape of the minerals

C Specific Gravity of the minerals

D All options are correct

Correct Answer D

Q.No: 142 Jigging is a process of :-
A Ore concentration

B Mineral sizing

C Mineral crushing

D None of these is correct

Correct Answer A

Q.No: 143 Quartz arenite is characterized by :-
A Detrital matrix is 35%

B Feldspar is less than 10%

C Composed 65% of quartz

D All options are correct

Correct Answer B

A sedimentary rock consisting entirely of less than 1/16 mm. grain size particles.
The rock is :-

A Lutite

Q.No: 144



B Psammite
C Psephite
D Travertine

Correct Answer A

A quartz rich variety of sandstone devoid of divisional planes and mica but dense

Q.No: 145 in packing, is :-
A Ganister

B Flagstone

C Freestone

D Greywacke

Correct Answer C

Q.No: 146 Turbidite facies is marked by the presence of :-
A Graded sediments

B Laminated sediments

C Convolute bedding

D All options are correct

Correct Answer D

Q.No: 147 Carbon dioxide Metamorphism of Serpentine is observed by the presence of :-
A Olivine

B Magnesite

C Gypsum

D Calcite

Correct Answer B

Q.No: 148 Chemical composition of Cerussite is :-
A BaCO5
B SrCO5
C MnCO;
D PbCO4

Correct Answer D

Q.No: 149 In Monoclinic crystals, the axes lie with [j angle:-

A aandc



B aandb
C b and c
D ay and a,

Correct Answer A

Q.No: 150 Fore arc basin lies between :-

A Magmatic arc and Mid-oceanic Ridges
B Trench and Mid-oceanic Ridges

C Magmatic arc and Trench

D Subduction Zone and Island arc

Correct Answer C
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